Bulletin Date:
MSE?VICBEPAE kGEMD M a I"— 2 o

TTI Model Number: 018 138 014, 015, 018, 019 Starting Serial Number:

M18 COMPACT BRUSHLESS PERCUSSION DRILL VERSION A - K2015

EXAMPLE:

NOTE:
mﬁ Component Parts (Small #) Are Included The design of Shuttle #8

When Ordering The Assembly (Large #). is similar to other tools that
have a spring plate used in
conjunction with the shuttle.
This tool DOES NOT
need a spring
plate.

=
N
yaN

R

NOTE:

The design of Battery Connector
Block #5h is similar to other tools
that have a compression spring
used in conjunction with the
connector block for added
pressure. This tool DOES

7 7al7bl7cl7d NOT need a compression spring.
7el7f |79

www.milwaukeetool.asia



Bulletin Date:
M 353:5 E‘r&ls?n Mal"—zo

TTI Model Number: 018 138 014, 015, 018, 019 Starting Serial Number:

M18 COMPACT BRUSHLESS PERCUSSION DRILL VERSION A - K2015

ITEM PART NUMBER PART DESCRIPTION QTY (PCS)
1 660134002 CHUCK SCREW 1
2 670842004 CHUCK 1
3 661922001 M3 X 18MM SCREW 4
4 203138003 GEARBOX ASSEMBLY 1

4a 351522001 SPEED SELECTOR SLIDE 1
4b 693612002 SPEED CHANGE LEVER 1
4c 693613001 TORSION SPRING 1
5 203137008 ELECTRONICS ASSEMBLY 1

5a 660438002 M3 X 8MM SCREW 1
5b 636083001 HV CONTACT PLATE 1
5¢c - HV WIRE 1
5d - ON-OFF SWITCH 1
5e - PCBA 1
5f - STATOR 1
59 - BATTERY CONNECTOR BLOCK 1
6 203137004 ROTOR ASSEMBLY 1

203137010 HOUSING KIT 1

7a 660951001 M3 X 26MM SCREW 1
7b 660851001 M3 X 16MM SCREW 7
7c 562951001 RUBBER SLUG 4
7d 560075002 RUBBER SLUG 2
Te - HOUSING HALVE - RIGHT 1
7f - HOUSING HALVE - LEFT 1

79 661922001 M3 X 18MM SCREW 1
8 527869001 FORWARD/REVERSE SHUTTLE 1

9 200624002 BIT HOLDER KIT (OPTIONAL) 1

10 202132002 BELT CLIP KIT (OPTIONAL) 1
10a 660820001 6-32 X 5/16” SCREW (OPTIONAL) 2
10b - BELT CLIP (OPTIONAL) 1
1| 069008 | gisrssons, 015 version 1
n | 2 | Gisrssons, 019 version 1
12 941046442 SERVICE NAMEPLATE 1

www.milwaukeetool.asia



M1 8 BLPD Bulletin Date:
SERVICE INSTRUCTION Mar_zo

TTI Model Number: 018 138 014, 015, 018, 019 Starting Serial Number:

M18 COMPACT BRUSHLESS PERCUSSION DRILL VERSION A - K2015

Stator Assemtily HV Wire Contact Plate
\ ;

| |
— ﬂ%%

—_—

Be sure post in shift disc of switch is inserted
into slot of fwd./rev. shuttle when installing
electronics assembly. Check for proper
functionality prior to screwing

housing halves together.

On-Off Switch-

Battery
Connector
Block Assembly

,; / AS AN AID TO REASSEMBLY, TAKE NOTICE OF WIRE ROUTING AND
/| POSITION IN WIRE GUIDES AND TRAPS WHILE DISMANTLING TOOL.

/
// BE SURE THAT ALL COMPONENTS OF THE ELECTRONICS KIT
ARE SEATED FIRMLY AND SQUARELY IN THE HANDLE RECESSES.

AVOID PINCHED WIRES, BE SURE THAT ALL WIRES AND SLEEVES
ARE PRESSED COMPLETELY DOWN IN WIRE GUIDES AND TRAPS.

PRIOR TO INSTALLING THE HANDLE COVER ONTO THE HANDLE
SUPPORT, BE SURE THAT THERE ARE NO INTERFERENCES.

www.milwaukeetool.asia



	Sheet1

